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QUESTION 1

Due to a hardware failure, it appears that there may be some corruption in database DB_1 as DB2 is reporting a "bad
page". DB2DART is performed for the entire database and it appears that several bad pages were detected in table
space TBSP_1. What command can be used to recover the database and repair the corruption in table space
TBSP_17?

A. RESTART DATABASE

B. RECOVER DATABASE

C. RESTORE TABLESPACE

D. ROLLFORWARD DATABASE

Correct Answer: B

QUESTION 2

A user with SYSADM authority executes the following commands at host SERVERL1.:

db2set DBZCOMM=TCRFIF,

db2 UPDATE DBM CFG USING SWYCEMAME S0000;
Jh2stop;

db2start;

Then from a Windows waorkstation, 3 DB2 client is configured this way

SATALOG TCPRIP NODE mynode REMOTE servert
SERYVER db2c_sample,

ZATALOG DB sarrple AT NODE mynade;

ZONNECT TO sample USER administrator,

Assuming the user ADMINISTRATOR exists, what could be causing the problem?

A. The password for user ADMINISTRATOR is missing.

B. The userid should not be longer than eight characters.

C. The syntax of the CATALOG NODE command must contain a valid TCP/IP address.

D. The db2c_sample entry in the Windows Services File might not be assigned port number 50000.

Correct Answer: D

QUESTION 3

When the ALTER TABLE DETACH operation is used to detach a single data partition from a partitioned table, at what
point does the newly detached data partition become accessible as a standalone table?
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A. After a SET INTEGRITY statement is executed.

B. After a truncate table operation is performed in the background.

C. Immediately after the ALTER TABLE DETACH statement is executed.

D. Immediately after asynchronous partition detach processing completes for this data partition.

Correct Answer: D

QUESTION 4

Which type of table space can be associated with only one storage group?
A. Automatic storage space (AS)

B. System managed space (SMS)

C. Database managed space (DMS) File

D. Database managed space (DMS) Device

Correct Answer: A

QUESTION 5

A partitioned table named SALES was created as follows: Which statement about the PARTS_IDX index is true?

CREATE TABLE parts
(part_num  INT,
description WARCHARSO],
prize DECIMAL (4,2))
[MDEX IM thsp3
PARTITION BY RANGE (part_nurm)
(STARTING FROM (1) EMDING AT (10} IM thspO,
STARTING FEOM (111 ENDIMG AT (20} N thsp1,
STARTING FREOM (211 ENDIMG AT (30) N thsp2);

If the following statement is executed,
CHEATE INDEX parts idx ON parts (part_num);
A. The index PARTS_IDX will be a nonpartitioned index and it will be stored in table space TBSP3.

B. The index PARTS_IDX will be a nonpatrtitioned index and it will be stored in table space TBSPO.

C. The index PARTS_IDX will contain 3 partitions and all three partitions will be stored in table space TBSP3.

D. The index PARTS_IDX will contain 3 partitions; the first partition will be stored in table space TBSPO, the second in

TBSP1, and the third inTBSP2.
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Correct Answer: D
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